[=] 54 [s]
FIRST TIME INSTALLATION
- TI_I RTLE * REMOVE PARTS FROM INSIDE THE PACKAGE AND CHECK THEMALL

belirtilen yere takiniz.

E T-profile. (There will be 4in total.) Attach the M6 clip to the place
; J/\ indicated on the metal part. 0
@ Metal parcayi belirtildigi
/ sekilde yerlestirip somun

ve pul kullanarak sikiniz. \
. ) Place the metal part ‘

as specified and tighten

using nut and WEV/
/

Contayi g6sterildigi sekilde
metal parcanin zerinden l
gecirip tavana yerlestiriniz.
Pass the rubber over the
metal bracket as shown and
place vehicle’s roof.

E * CONTACT YOUR DEALER IF ANY PART IS MISSING OR DAMAGED
] * USE THE EQUIPMENT SPECIFIED FOR INSTALLATION
ASSEMBLY INSTRUCTIONS (ROOF RACK) COMPATIBLE VEHICLES PACKAGE INCLUDED
Product Code: MC03015 (Turtle Air3 Kit) FRD GLXY (MK3) MPV 06-10 1- TURTLEAIR3CHASSIS 4
2- 5MMALLENKEY 1.
. 3- CLOTHKEYCHAIN __ .1
Uriintin araciniza montajinda
5 - 4-Cc6 .4
gorselde belirtilen T-kanallari 5. C19

\ / o kullanilacaktir. e 4
6- M6SPEEDNUT = 4.
» T-profile specified in the image will be used 7- M6x30INBUSBOLT = 4
while the product is mounted on your vehicle. 8- D61/2WASHER 4
(&)------ <5 (@ 9- M6HEXFLANGENUT 4.
| 6 XA . 10-D6WASHER =~ 4

= > O / 11- M6x30 MUSROOM HEAD 4
1 5 numarali parcaya mantar bagli dibi dért kése x~ 7)) ,S,Q,UA R,E, ,N,E,C,K, ,B,QI,-T ,,,,,,,,,,,,,,,,

t civatayi sekildeki gibi takiniz ve t-kanaldan 6n ve 12-10-13 WRENCH 1
arka olarak 2 adet takiniz. (Toplamda 4 adet olacak.) f ) o ********************************************

Attach the mushroom head square neck bolt S M6 Klinsi metal d
to the piece number 5 as shown in the figure ﬁ Ipsi metal parcada
and attach 2 pieces as front and rear from the ~

Air3 sasi kitlerini profile takiniz.
Attach Air3 chassis kits to the profile.

M6x30 inbus civata ve kiglik pulu
Air3 sasi lizerinde ilgili yere yerlestiriniz.
Place the M6x30 inbus bolt and small washer
on the Air3 chassis in the place specified.

Turtle® ara atkilari

arac tavanina yerlestirip
o metal aparatlara

sabitleyiniz.

Place Turtle® roofracks

on the vehicle roof and
fix them to the

metal apparatus.

Pul ve civata kullanarak
ara atkilari sabitleyiniz.
Fasten roofracks
using washers and bolts.

Profilleri ortaladiktan sonra
yatay sabitleme civatalarini sikiniz.
After centering the profiles,
tighten the horizontal fixing bolts.

80Km/h

MC03015/Rev.02/12.06.2023 (ECE)

130Km/h
80Mph
! ! {7/ LONGFORFRONT \\ ¥ g
1 i [/ SHORTFORREAR \) “
Kullanim amaci; Aracin bagaji yeterli olmadigi durumlarda ara¢ tavaninda ylik ve esya tasimak. ‘
* Purpose of usage; Carrying cargo and goods on the vehicle's roof when the vehicle's trunk is not sufficient. o
CAN OTOMOTIVINS. ITH. IHR. SAN. VE TiC. LTD. STI. www.canotomotiv.com.tr / turtlecancarry.com/ canauto.store /canauto.ru

Velikdy OSB 4. Cadde No:20/A Cerkezkéy/ TEKIRDAG +90282 746 1320 info@canotomotiv.com.tr



